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1. Introduction
It is agreed that if there is no PDP context during the TAU from 2G/3G to SAE, the MME shall reject the TAU. SA2 claimed that how to handle the default bearer if there are only GBR bearers during the mobility from pre Rel8 2G/3G to SAE is a stage 3 work.
2. Discussion
The E-UTRAN capable UE will initiate an interactive/background PDP context activation when it accesses to the UTRAN/GERAN network no matter it is a  S4 SGSN or Gn/Gp SGSN. When the UE connects to the S4 SGSN, the UE, S4 SGSN and PGW will have the default bearer id and will not deactivate the default bearer if the related PDN connection is alive. Therefore when the UE moves from S4 SGSN to MME, the MME can map the default bearer accordingly and there is no special default bearer handling in this scenario. 
However the Gn/Gp SGSN has no capability of storing default bearer id and may initiate the PDP context deactivation. So Gn/Gp SGSN can not make sure at least one PDP context is non-GBR. There is a scenario in which only GBR PDP contexts exist in the Gn/Gp SGSN and then the UE moves to the MME. In this scenario there will be no PDP context which can be mapped to the default bearer since default bearer is a GBR bearer. It is agreed that in this case the MME can accept the TAU and HO during SA2’s discussion but how to handle the default bearer in this case is a stage 3 work.
There is a very simple solution to solve the problem. If there are only GBR bearers when the UE moves(TAU or Handover) from Gn/Gp SGSN to MME, the MME rejects the TAU and HO with cause `Reattach required`. But the service continuity will be broken. Also this solution is not consistent with SA2’s decision.
It is stated that the default bearer shall be non-GBR bearer in 3GPP TS 23.401. So when the UE moves from the Gn/Gp SGSN to the MME if there are only GBR PDP contexts in the pre Rel-8 2G/3G, the default bearer can be re-established or revised from one of the GBR bearers. The default bearer activation and modification shall be performed after the MME gets the UE’s subscription data. 
In the attach procedure the default bearer activation is initiated by the MME, but other bearer management is controlled by the PGW. If the default bearer is revised from one of the GBR bearers, the PGW shall decide which GBR bearer is to be revised and the MME only request the modification by sending the Bearer Resource Command message to the PGW via SGW.
3. Conclusions

If there are only GBR bearers when the UE moves from Gn/Gp SGSN to the MME, the following solution can be adopted.

a) The MME rejects the TAU or Handover with error code Re-attach required.
b) The MME initiates the default bearer activation as in the attach procedure.

c)  The MME sends the Bearer Resource Command message to the PGW to request the PGW to modify one of the GBR bearers to the non-GBR bearer and mark this modified non-GBR as default bearer.
4. Proposal

CT1 and CT4 decide which solution is adopted in this scenario and send a LS to SA2 if necessary.
